Part List

No| Picture | Specification Qty
A | ™y | Screw @ 3/16X13/16" 6
B ) Screw @1/8™*1/2" 8
C|l & 6
D| & L Bracket 2
E| & |Drawer Glides 2
F| € |Glide Connector 2
G 2 Corner Bracket 4
H 9) Bumper 6
I S Shelf Clip 4
J
k
] / 2 /////;> 3 /
Z //é/ .l ‘
/j ///? ///?/j/ :
///// :
Face . _
Frame / Drawer [~ Left %
Door X1 | Front X1 | Side Panel X1
4 %%%% 5 ; 6 Z
Right / Bottom Back ///)
Side Panel X1| panel X1 | panel = X1
7/ 8 ; %
Front Drawer
Toe kick X1 | Shelf X1 | Bottom X1
10 11 12
Drawer Drawer
Back X1| Sides X2 X2

B12-B21 Assembly Instruction




Assembly instructions

No| Picture Specification |Qty|No| Picture Specification |Qty
A | Ttz Screw & 3/16"x13/16" 16 | G <z Corner Bracket 4
B ) Screw & 1/8™1/2" 12 H O Bumper 6
C 6 | 1 < Shelf Clip 4
D &N L Bracket 2 | J
E S Drawer Glides 2 | K
F <& Glide Connector 2
) C
W
N
stepl: FlaceFace Frame onthe Step2: Lockin face frame with side
floor first. Insert right and left side . . .
panels with the plastic connector using
panel as shown screws. Insert bottom panel from the
Step3: Insert back panel
from top to bottom and C

drawer glide base. Connect drawer

glide to frame using screws provided.

B‘\ Install plastic triangle with screws at
top of cabinet as shown.

Step7: Install plastic triangle at top of cabinet by
screws.Push fully assembled drawer in place.

lock in plastic connector.

B

Step4: Install foot panel and
lock in plastic connector. Use
3/16” *1-3/16" screws to
tighten back panel from the

Step6: Connect drawer box side panels with
glue first. Then insert bottom panel. Install

drawer alide on drawer bottom as shown.

Step8: Place shelf holder at ideal location, Place Shelf on top.
Stick door-stopper on frame for doors/drawers as shown.




	B12-B21-1
	B12-B21-2

